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Check Calculations

Check Calculations

4a. spot the odd one out.

ab. spot the odd one out.

16+4=20 @ 13+3=16 ©)
20 16
5 a 20-1=19 5 T3 3+13=16
Explain why. Explain why.
5a. Nick says, 5b. Daisy says,

Iknow that 9 +9 =18
because 18-10=8.

s his method correct? Convince me.

Is her method comect? Convince me.

&a. Rewrite the following fo make it a
sublraction word problem.
There are 14 fish in my fank.
1 add § more fish.

Now I have 19 fish all together.

i

sb. Rewrite the following to make it a
sublraction word problem.
There are 13 seedsin the plant pot.
1 put 4 more seedsin.

Now | have 17 seeds all fogether.

I
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Compare Number Sentences

4a. Complete the part whole models.

)Q

ab. Complele the part whole models.

C ® C ’%
C. D.
Q/ (,/ °

|

5a. Choose the comect calculation fo
complete the statements.

1. 15-9 >

2. 15+2 =

3. 14+3 <

A 14+3

hi¢

B.15-10 C.14+4

sb. Choose the correct calculation fo
complete the statements.

1. 11+5 =
2. 10-6 <
3 1-7 >
A.10-7 B.10-5 C.10+6

|

4a. Tick the statements that are true.
Conrect those that are false.

A 12 + 4|=|13 + 5
B. 12 + 4|=|13 + 3
C. 17 - 6|<|18 - 5
D. 17 - &6|>|18 - &

&b. Tick the statements that are frue.
Correct those that are false.

A 9 + 8|>|8 + 9
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Compare Number Sentences

4a. Use the digit cards fo find all the
possible combinations that will make this
statement correct.

7 + 6

L LIEGIE

ab. Use the digit cards fo find all the
possible combinations that will make this
statement correct.

[e LG

5a. Befty has written this calculation in her
book:

9+46<8+7

s she correct? Convince me.

prd ey

sb. Ishmail has written this calculation in
his book:

16-5<17-5

Is he correct? Convince me.

ied A

&a. These cards have been placed in the.
wrong order. Rearrange the digit cards to
make the statement correct.

HEan

pig

6b. These cards have been placed in the
wrong order. Rearrange the digit cards to
make the statement correct.

gaan

by
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Related Facts

Sa. Write the calculations represented
below.

ARV @l

sb. Write the calculations represented
below.

000 00

i

s
M0G0 00 + 000
T -

b1y

&b. True or false?
-7

T :

20

v

70

7a. Complete the bar models below.
4

10

7b. Complete the bar models below.

in the missing numbers.

1ea | i s =)
w0+ 40 D) D [ =)
S =)
D |[so-m =)
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Related Facts

4a. Jonny says,

~
Iknow that 7 -3 =4, so
70-30=50.

—

15 he correct? Explain why.

4b. Laylah says,

- N
Iknow that8-5=3, so
80-50=30.

—~X j

> 4

s she correct? Explain why.

sa. spot the odd one out.

A [
omea @@
@
< o.
n 60-30=30
4 |2

Explain your choice.

sb. spot the odd one out.

A 5
10+80=90 o @
< 0.
o 90-80=10
7 |2

Explain your choice.

&a. Using only 3 numbers, complete the
related fact calculations below.

- -
2+ |=

o-[Jo=10
20+ Jo=[]o

&b. Using only 3 numbers, complete the
related fact calculations below.

-5 =
4 + =

9 0 - 0 =40
5 0 + 0 = 0
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Bonds to 100 —Tens

4a. Use the fen frame fo complete the
number sentences below.

ab. Use the fen frame fo complete the
number sentences below.

B. + 10 =

80

)¢

5a. Match each number fo its bond fo
100.

sb. Match each number fo its bond to 80.

30 50 40 20
50 40 50 40
60 70 60 30

Ay

7

4a. Complete the part whole model
below in words.

b. Complete the part whole model
below in words.
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Bonds to 100 - Tens

4a. Arrange the cards below fo create a
number sentence. find all the possibilities.

)
HE0

+

hr¢

ab. Arange the cards below fo create a
number sentence. Find all the possibilifies.

I
jocisl

Sa. Circle the incorrect numbar senfence,
below.

- one

A0 thirty hundred

s ffly o+ foly = 100

one s+ twenty

hundred

Explain why it s incorrect.

sb. Circle the incorrect number sentence
below.

A 10+ eighty = ninety
B Fifty <+ foly = %0
C. ninety = 80  + iwenly

Explain why it s incorrect.

a. Johnny spends £90 on two items.
Which items did he buy?
Find all the possible combinations.

1@
oo
£10 £20

£70

&b, Tilly spends £100 on two items. Which
items did she buy?
Find all the possible combinations.

oL >

2

N
£60 £80
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Fact Families

Sa. Which number senfence does not
match the counters in these ten frames?

4+16=20
16+4=20
16-20=4
20-4=1¢6

sb. Which number senfence does not.
match the counters in these fen frames?

3+17=20
17+3=20
20-3=17
17-20=3

001000 0e
Aad

@Ce0 [0
@

@
COCe0
31y

o Jo/e)
Seeejeceee)

4a. True or false?

|

True or false?

[#18+2=20then20+2=18 |

[#1146=17then17+6=11. ]

iy

e

7a. Use the fens frame fo complete the

7b. Use the fens frame fo complete the

ssses so

e

b

3+

%t
6 - ‘ = 3

ahrg s

8a. Wiite four senfences fo describe the
fact family shown in the part whole

model.

by

8b. Write four sentences fo describe the
fact family shown in the part whole

model.
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Fact Families

4a. Use the number cards below to find
three fact families.

ab. Use the number cards below o find
three fact families.

ol ]a]le

gaooa

14 - =

Write all of the possible number
senfences.

W "

+ =

12

12 - =

Write all of the possible number
sentences.

v -

5a. Paul has picked 13 flowers. Use the
images fo wiite two addition number

a0
q ;&%

Using the addition sentences, write the
sublraction sentences that would
complete the fact family.

sb. seth has 11 balls. Use the images fo
wiite two addition number sentences.

000
oo 00

Using the addition sentences, write the
sublraction sentences that would
complete the fact family.

4a. suzie says,

N
I can use the numbers 15,
7 and 7 fo write a fact

family for these 10 Irames./7

&b, Eric says,

-
I'can use the numbers 13,
& and 7 o wiite a fact
family for these 10 frames.
i faehiinnhtntiniing

000 @0
Celee OO

Is she correct? Prove it.

hrg

Is he correct? Prove if.

by .
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Check Calculations

Sa. Circle the calculation that you would
use fo check:

sb. Circle the calculation that you would
use fo check:

a. b. c.
(475 ) (m1ems) [16vam)

o
(2218=20) [20-

b7

|ve

4a. True or false?

&b. True or false?

hYig

%

7a. Tick all of the calculations that match
image.

7b. Tick all of the calculations that match
#

A0 A A A 3 e o 3 e %
[-2-2-2-2-3-3 Peeeee

746213 12-6=6 5+6=11 12-5=7

13-7=6 2+42=4 1N-5=¢ 1-6=5

b

%

8a. How can you check this calculation
using addition?

8b. How can you check this calculation
using addi





